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= 78,203
Al 4,513,523
MEZ dEAE 2L (XA 447,846 290, 156 157,690
& 78,203
Al 369,643
101 2124 d| 269,300 264,116 5,184
M IIZINZ2E2XNSES 269,300 264,116 5,184
OMEE MEXHY 22X B 269,300
SPIE—= 78,8803 * 10 x265 2! 209,032
oFssH 78,8803 *10g 52 41,018




2A:

2F

3 WolSXel(&3/HoI=S)
Cel: HIIE HMolAlE 2922 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o2tAlH| 5,000 x10H 265! 13,250
ocHESIHI 500,000& *10E*12 5,000
oIl =] 100,0002x10H*13] 1,000
201 =3 12,140 12,140
01 At22t2l] 2,140 2,140
ONgE HEAE 324 1LI=H| 2,140
oXg=s S 60,0008 x2E+65 720
oQtdet S 160, 0003 22 »23] 640
o= d0tAI 30,0002 x2& +63] 360
oA = 7,0002 %28 *302] 420
2 S5=2g4l 10,000 10,000 0
ONEEXCIAE EHl |FA2el
2,000,000 54 10,000
206 M=l 10,000 10,000
01 MZH| 10,000 10,000
OMEESXcIANE EXMg 7Y 10,000
oMEEXNCANE EXTHE 7
2,500,000 4 10,000
401 Al HIZL S 0HYI 30,000 0 30,000
== 15,000
Al 15,000
01 Al&HI 30,000 0 30,000
OAl&H| 30,000
oMgE dEE IIAE i 30,000
= 15,000
Al 15,000
405 KHaHE SH 126,406 3,900 122,506
[ 63,203
Al 63,203
01 AL =S F=H 126,406 3,900 122,506
OXtet & SSF =4I 126,406
oMEES +& - 28 & (1) 121,406
= 60,703
Al 60,703
olEE dEF Witd)| 22(30H)
3,000,000 3,000
[ 1,500
Al 1,500
oHEE JEE SEIIAFHI(2H)
1,000,000 *2CH 2,000
= 1,000
Al 1,000
O 2el 739,480 676,339 63,141




S EED
mE: HDI2He(22/HDI2)

ol HDIZ XA 2de (SHol: )
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
101 e124d| 49,497 48,566 931
04 JIZtN2 2S84+ 49,497 48,566 931
Ollgld stB2AH 2 49,497
=llEgs 78,8803 #2243 38,336
oxm+d 78,8802 2 49! 7,731
o 2tAlH| 5,000 »2E »2432 2,430
oHEFIHI 500,000& x2E*12] 1,000
201 L= 651,083 570,253 80,830
01 AtR22telbl 116,760 76,730 40,030
Ooggt=g| 11,440
oliEld FE &AM =8 6,400
Pl E 400,000& * 123! 4,800
-NSHEE 400,000& *4=] 1,600
olHeld Kot =E2EA =2 5,040
—PI M E 830,000 *42] 3,320
-NEHEE 430,000 *42] 1,720
OMSiiEd XE =2BA ===
400,000& *20H A#23] 1,600
OKSHHE S OHEItA BAL =8
460,000 *8IH 2+13] 3,680
OMSHEE ELLLEEXTA =8
4,000,000& *4 1 2=+ 13 16,000
OKNSHEE XIgt HEBIERAL =22
5,000,000& 23! 10,000
ONSHEY 8 SHYIS A
22,000,000& 22,000
O&EJISHE 2te|CHY 920,000 122 11,040
ORIMIHEE 2F ARF 5,000,000 5,000
OfIMIEE 284 AMEFRFT 2
150,000 8 *12] 1,200
Oy 2382 etdd TAL E9
22,000,000 22,000
OCHJIZ Bt JtE &M ===
300,000 1200 & 3,600
O&=I & 3IIEE)| A= 4,200
odJ| Sz 150,000 « 122 1,800
o3I I#EI SX=
50,000 *4CH* 122 2,400
OMNE2IAIAE et 5,000,000 5,000
02 3224l 534,323 493,523 40,800
O332= € HMAl 432,930
ocRMMEE L MSHEE HIIR= 114,000
-AUHEE L NSHESE
9,500,000& « 12 114,000

oSS 40,0002 1CH= 123 480




2A:

2F

M HIISH2l (=2 /HDIIS)
ol HDIZ XA 2de (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oMol R3 1,500,000 x13|x 122 18,000
o NSIHEAL =&
50,0002 *7CH*12] 350
cHPIZEHERES 300,000,000 300,000
cEFMEFES 100
= 100,000 *1CH* 12 100
(@ftak=4] 22,313
osmHE Hes AY
1,750 %201 +202] E1*x1502 10,500
o2 HAF Y
1, 7503 = 10H*452 | B %150 11,813
OAlE &8I Xl 20,400
o&J|, JIAEH =X2el
80,0003 20562 9,600
oFEsHMLlANE HREA
253 36,0002 | £+ 122 10,800
OXtet| 58,680
o= 46,080,000& 46,080
omAl2eldl 150,000 *7CH* 122 12,600
202 04| 4,800 3,520 1,280
01 =LHOLI 4,800 3,520 1,280
ORdied g2=a
100,000 x6 & x2 2 +42] 4,800
206 MH=H| 34,100 28,000 6,100
01 MZH| 34,100 28,000 6,100
OFE= XMlAE 4357 26,000
oZcli 4,0002+4,000kg 16,000
ogitdllE 1,000&%10,000kg 10,000
ORMEd LdH=8 7Y
30,0002 «3S*15 6042 8,100
SAESFHIIS s 349,450 500,176 150,726
201 er2 3| 57,800 57,800 0
01 AtR2telHl 3,800 3,800 0
OSA=FHIIZ UEH d28A =8
450,000 *42] 1,800
OSASRHIIZS HMelAE HIIBM ===
2,000,000& %12 2,000
2 352484l 54,000 54,000 0
OSASFHIIZ HMeIAE EHHl |2
54,000,000& 54,000
202 048l 800 528 272
01 2L AL 800 528 272
OsA=2FHII= Mz =4
100,0002 x 12 *x2 2 *43] 800
206 M=l 92,850 93,848 A998




2A:

2F

M HIISH2l (=2 /HDIIS)
ol HDIZ XA 2de (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 MHZH| 92,850 93,848 A998
OSAEFHIIZ XMelAE Mz 39,600
osd 55,0002 x242/*30m* 39,600
OSA=FHII=Z MelAE %3578 53,250
o NEXNSEH 5,000 *3,500kg 17,500
o U FIAALE 650% *55,000ke 35,7850
307 elzto| & 198,000 198,000
05 212t S 198,000 198,000
OSA=FHII= 2ZEXCHIS
198,000,000 198,000
HIlZ ~2AE 23 3,064,950 3,070,566 A15,616
101 21AH| 49,450 48,566 884
04 JIZtN2Z2XNSE+ 49,450 48,566 884
OAZAIL BALAR 24 49,450
SES= 78,8002 x2H #2432 38,297
oFFrd 78,8003 x2& 49 7,723
o ZHAH| 5,000& x2& »243 2,430
ocEEFIHI 500,000 x2H *13] 1,000
207 AR 5,500 22,000 /16,500
01 HESHI 5,500 22,000 216,500
OS2I~ WU SEIH (2 HEE
g9 5,500,000& 5,500
307 elztol & 3,000,000 3,000,000
05 2I2tRIE =S 3,000,000 3,000,000
OaZtAIE A 24|
250,000,000& x12& 3,000,000
HY2AHHI(Z ) (OIEHIIE) 4,057,147 4,027,719 29,428
= 15,300
Al 4,041,847
el 2| 4,009,271 3,982,119 27,152
= 15,300
Al 3,993,971
olE =gl 4,009,271 3,982,119 27,152
=S 15,300
Al 3,993,971
101 ©1AH| 3,291,918 3,3%,409 103,491
< 15,300
Al 3,276,618
03 SRA(RIH L) 222+ 3,291,918 3,3%,409 /103,491
Osdilzta 212y 3,152,725
SPES= 1,703,542
-0~10& Ojet 2,617, 3743 +32F 123 1,005,072
-11~154 0|t 2,753,263 x11E 128 363,431




A 23
M HZYRAZHI(FM) (OIEHIIE)
SERRIEESS(T (rel: &gl
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
-16~20= Oet 2,939, 3863 x2H 122 70,546
-21~25¢ 0|gt 3,069,931 «4H 123 147,357
—-26~30 0|t 3,227,350 2H 123 77,457
-304 Ol&f 3,306,570« 1& 128 39,679
ocdl= 145,670
-d32+E 145,670
-0~10& DI2F 1,154,081 +32& %23 73,862
- 11~154 0|et 1,716,632 x11&x23] 37,766
- 16~204 018t 1,809, 9637 x2& »23] 7,240
- 21~254 0]gt 1,874,966 x4 & *23] 15,000
- 26~30& D1g* 1,953,6753 x2H 23 7,815
- 30 Ol 1,993, 2853« 1 %23 3,987
o 60,0002 x52F 122 37,440
oSl ed 90,0002 x52EF « 12 56,160
SRal=Eat= 80,0002 x52E « 12 49,920
ogesd 100,000 x3&* 122 3,600
oMYA A+H 130,000 x52&F « 128 81,120
oXtAH=E 40,0003 x2&* 123 960
ool=ag 84,864
SN} 40,0002 x52H * 12& 24,960
-JIERHE 60,0002 x52E *1.6x12& 59,904
o=l 4| 412,469
-g A ZAH| 140,000 x52E « 12 87,360
RN 90,0003 x52H « 12 56,160
—uS2AH| 90,0002 x52H * 12& 56,160
“HEFOH| 212,789
-0~104 012t 1,978,424 %328 »23] 126,620
- 11~154 D12t 2,059,958 * 112 =22 45,320
- 16~204 0lgt 2,171,632 =22 +23] 8,687
- 21~25¢ D]gt 2,249,950 x4 & =23 18,000
- 268~304 0|8t
2,344,410 x28»23] 9,378
- 308 Ol&t 2,391,9423x18 23] 4,784
ox22eE 434,223
AR 2R4E 366,892
0~10& 0Igt
18,2753 * 150032 240 A1 2+ 210,528
- 11~154 D12t
19,4393 + 150%+ 11 x240A1 2t 76,979
- 16~20& D]g*
20,4932 x 15072 «240A1 2+ 14,755
- 21~25¢ D18t
21,2323 x 15004 S 240 A1 2t 30,575




SN BHD
D #NSAZFY (22 (OIEHIIE
&2l I 2| CEEREE
~ _ AE]
S BB G(3H) - HSAY - BES Ofl Ao 05”55 HRE2
R EE
22,123 & x150%+2 Al 2+x240 A1 2+ 15,929
- 3089 Ol&
22,571 & *150%* 1 x240 A1 2+ 8,126
-0pt224 g 17.847
. 0~10 DIgt
18, 275%! x50+ 32 *36 Al 2+ 10,527
- 11~154 0ot
19,430 x50%* 11H x36 Al 2+ 3,849
- 16~204 08t
20,4933 *50%*x2H *36A| 2+ 738
. 21~253 D2k
21,2323 x5+4 B 36 Al 2+ 1,529
- 26~304 08t
22,1233 #5002 H 36 A1 2+ 797
304 0] &t 22,571 & *50%* 1= *36 A 2+ 407
-5e224y 59,484
o~10& 0|2t
146, 1993 * 150%*32H x5 35,088
- 11~154 0ot
155,510 % 150%* 11 & x5! 12,830
- 16~204 0] et
163, 9403 * 150%*2 H x5! 2,460
- 21~254 0] Gt
169, 8533 * 150%*4 H x5 5,096
- 26~304 0ot
176, 9843 * 150%*2H x5! 2,655
Y 0 At 180,572 *150%* 1 H x5! 1,355
SoRRE LY 142,757
-0~10 0|8t 146, 1992 x32H * 182! 84,211
-11~154 0|8t 155,510 x 11+ 182! 30,791
-16~204 0|2t 163,403 2H x 182! 5,902
-21~254 0] Gt 169,853 *4H x 182! 12,230
-26~304 08t 176,984 2 x 182! 6,372
-30¢ Ol&f 180,572& 12 182! 3,251
OO MAT 25
100,000& 2 x 128 2,400
OLUKABHZAIUN 22X BX(SRARSA) 136,793
oJlga 81,479
-113= 2,210,441 128 26,526
= 5,100
Al 21,426
-13&= 2,273,519 128 27,283
== 5,100
Al 22,183
-1452 2,305, 7743 %128 27,670




A B3
M HAPAZH|(SHZW)(OIEH/DIE)
ohel: ol L)
SA - FE - BR(S) - MIRA - BAS Ofl &4 A HIDEY
< 5,100
Al 22,570
odz2+g 5,446
-Nns=s 2,210,441 +35%*23] 1,548
-13s= 2,273,519 +35%*23] 1,592
-4 2,305, 7743 +50%*23] 2,306
ocHESIHI 8,149
-Nns=s 2,210,441 2 +60%*22] 2,653
-2s=3 2,273,519 +60%+*23] 2,729
-13s= 2,305, 7743 +60%*23] 2,767
ocItRaEsII=d 6,471
-Nns=s 1175682 « 18 2,117
-38= 120,224 3«18 2,165
-14s= 121,584 182 2,189
oAZRZRE 4,288
-Nns=s 23,3062 *5A1 2+ 123 1,402
-3s= 23,9022 5A1 2+ 128 1,435
-14s= 24,176+5A12H+ 123 1,451
oSl 50,000 x3& * 122 1,800
o AT AY 150,000 x3F 122 5,400
oA +E 90,000+3& * 128 3,240
oHAzA| 140,000& 32+ 123 5,040
o JAIE 2| 80,0002 +3~ 122 2,880
o xR 130,000& x3H 122 4,680
oIIESY 220,0002x324* 128 7,920
WM H=RE=S 717,353 586,710 130,643
4 SRE(RIAHL) 22X BEEEREE S 717,353 586,710 130,643
OtZ0Istd &&= 450,000,000 450,000
OZ0IsHd =UH=RE=
, 152,725,000 *4.5/100 141,873
Ostd0Istd ALEE=
3,152,725,0002+3.545/100 111,765
OtZ0Istd LAY EE=
3,152,725,00024+0.435/100 13,715
=3l 47,876 45,600 2,276
Jl=&H| 47,876 45,600 2,276
201 23] 38,256 38,160 %
01 AFS2teltl 34,65 34,560 9%
ORAM2g JI1=3tl 9,600
oEHZYM 400,000&3 12 4,800
o MEFH 200,000 128 2,400
ogHHAlIE 200,000 122 2,400
OMSPES FU(ZAX E) 7,200




2 8
M AH2HAHI(BZW)(DIEHIIE
&el: Jl=Z|
- B8 SA(SH) - MSAY - BAES A
oYM 400,000& x 122 4,800
oA AL 200,000& * 123 2,400
OHFAIRII| 2285 2 7,200
oEAZ M 300,000& *5CH*33 4,500
o EAAIL 300,000& *3CH+*33 2,700
O=&tl 8,000 +37F 3L« 122 10,656
02 33244l 3,600
ORHERZ 300,000& =123 3,600
202 04d| 2,220
01 =WOdbI 2,220
OHl&22 2o
20,000 37 H +33] 2,220
203 PRF=&H| 6,000
M4 FA2ILRFAL 6,000
ORN2IYRFAI 500,000& * 12 6,000
405 Xt S| 1,400
01 ML =EFSHI 1,400
ORN2ZEEE 7 1,400,000 *1CH 1,400
HRES(2ZE0)(HE/HDI2) 50,000
e 50,000
LI XI= 50,000
R IISEES 50,000
01 JI3HES 50,000
OLZtAld B2 10%
50,000,000 50,000




